
I.D.:	50176551

Echipament	video	cu	accesorii

Data
publicarii

28.09.20 Coduri	CPV 32323300-6

Pretul
estimativ:

10.762,00	RON	-	10.762,00	RON 	 	

Descriere: Echipament	video	cu	accesorii	Camera	Lenses	for	Machine	Vision,	18	-	108	mm	EFL,
MVL7000-	1	buc;	Ø12.7	mm	Post	Holder,	Spring-Loaded	Hex-Locking	Thumbscrew,	L=150	mm
PN:	PH150/M	-	2	buc;	Ø12.7	mm	Post	Holder,	Spring-Loaded	Hex-Locking	Thumbscrew,	L=50
mm	PN:	PH50/M	-	2	buc;	M4	x	0.7	Stainless	Steel	Cap	Screw,	6	mm	Long,	50	Pack	PN:
SH4MS06	-	1	buc;	M4	x	0.7	Stainless	Steel	Cap	Screw,	12	mm	Long,	50	Pack	PN:	SH4MS12	-
1	buc;	M6	x	1.0	Stainless	Steel	Cap	Screw,	10	mm	Long,	25	Pack	PN:	SH6MS10	-	1	buc;	M6	x
1.0	Stainless	Steel	Cap	Screw,	20	mm	Long,	25	Pack	PN:	SH6MS20	-	1	buc;	M4	x	0.7
Stainless	Steel	Setscrew	with	Hex	on	Both	Ends,	SS4M12D	-	1	buc;	M6	x	1.0	Stainless	Steel
Setscrew	with	Hex	on	Both	Ends,	SS6M16D	-1	buc;	Ø12.7	mm	Optical	Post,	SS,	M4	Setscrew,
M6	Tap,	L	=	150	mm	PN:	TR150/M	-	3	buc;	Ø12.7	mm	Optical	Post,	SS,	M4	Setscrew,	M6	Tap,
L	=	100	mm	PN:	TR100/M	-	2	buc;	Ø12.7	mm	Optical	Post,	SS,	M4	Setscrew,	M6	Tap,	L	=	50
mm	PN:	TR50/M	-	3	buc;	Aluminum	Breadboard,	250	mm	x	300	mm	x	12.7	mm,	M6	Taps	PN:
MB2530/M	-	1	buc;	Rotating	Clamp	for	Ø1/2"	Posts,	360°	Continuously	Adjustable,	5	mm	Hex
PN:	SWC/M	-	2	buc;	Right-Angle	Clamp	for	Ø1/2"	Posts,	5	mm	Hex,	5	Pack	PN:	RA90/M-P5	-	1
buc;	Right-Angle	End	Clamp	for	Ø1/2"	Posts,	M6	Stud	and	5	mm	Hex	PN:	RA180/M	-2	buc;	Ø1"
Visible	and	IR	Alignment	Disk	VRC2D1	-	1	buc;	ZAP-IT®	Laser	Alignment	Paper,,	Box	of	20
Sheets	PN:	#15-825-	1	buc;	Camera	interfata	USB	3.1,	model	DM	1	buc.


